1-60 General

Table 1.44: (Continued)

Simple Beam - uniform load partlally distribuied
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Beam fixed at both ends — symmetrical trapezoldal load
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Note: When a = £/2 loading is triangular
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Table 1.14: (Continued)
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Beam fixed at both ends — uniformiy distributed loads
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Simple Beam — concentrated load st any polnt
R, = Vy (max. when a <b)

R, = V» (max, when a >b)

M max. (at point of load)
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Not

P: Concentrated load.

o:
w: Distributed load per unit length. In the case of triangular distribution, w represents the maximum intensity of load

Beam fixed at both ends — concentrated load at any polnt
i Pb2
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loam fixed at both ends — uniform load partially distdbuted

[ =—1-%7[(l—a)‘(t+sa)—c3(4l—3c)]

. = —-1;2 [(l - €)% +3c) - ad(4¢ -—3a)]
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Conirated long, it length. In the case of triangular distribution, w represents the maximum intensity of load per unit length,




